USN 1015662
Sixth Semester B.E. Degree Examination, Dec.2018/Jan.2019
Complier Design
Time: 3 hrs. Max. Marks:100
Note: Answer any FIVE full questions, selecting
atleast TWO questiohs from each part.
PART A
1 Explain the various phases of a compller Show the translation for an asmgnment statement.

50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

c=a+b=*120;

Clearly mdlcate the output of each' phase (12 Marks)
Define regular expression deﬁmtlon Write a regular expressmn for unsigned numbers. Also
write the transition algorlthm (08 Marks)
What is left recursion and leﬁ factoring? Explain w1th suitable example. (06 Marks)
For the following grammar 3

E > TFE

E'—+TEYE

T—>FT’

T'— = FT4E

F— (E)ad

Perform predlctwe LL(1) parser aﬁd also parse the lnput stnng id +id * id. (14 Marks)

What is handle pruning? How they are used in. the STACK 1mp1antat10n of shift reduce
parser? Explain with the grammar. ;
E > E+E/E * E(E)/id.

On the input string w = 1d1 + 1d, * ids. b, @ (06 Marks)
Construct SLR(1) parsing table for the followmg grammar G

S—>L=R

S—>R

L —» *R

Lo

R->D A

Is this grammar SLR(I)? Juétify your answer. - (14 Marks)
“Compare the relative merits and demerits of LALR SLR and LR(1). (06 Marks)

Write the algorithm for constructing a caronical sets of LR(1) items for grammar G. Apply

" the above algorlthm to compute the canonical sets of LR(1) items for the following

grammar.
S—CC \
C — eC/d. ‘ (14 Marks)

PART - B

Define synthesized and inherited attributes. Give examples for each. (08 Marks)

For the SDD glven below, construct annotated parse true for the input :

Float a, b, ¢ ‘

D — TL;

T — int/float;

L - L 4did. (12 Marks)
1of2




oe

10IS662

Define DAG. construct a DAG for the expression :

ata*(b-c)+b-c)*d. (06 Marks)
What are three address code? Discuss its quadruples triples and indirect triples
representations. S, (06 Marks)

C0n51der the assignment statement :
=bx*x—c+bx-c
erte the sequence of three address cod@s and give its quadruple, tnple and indirect triple

representations. (08 Marks)

Explain in detail the different storage allocation strategles (08 Marks)

Write a short note on the following terms : vy

i) Garbage collection

ii) Activation tree and activation record

ii)) Displays. o (12 Marks)

Discuss the various: ,1n§‘sues in the design of a code generator. (12 Marks)

Mention the dlfferent types of optlmlzatlon of basic blocks. Explain any two with example.
il (08 Marks)
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